Easy Logarithm Problems

Given log,16 = 2,find (@) a (b) logs G) .

Given p = % , find (a) logqp (b) Zlogpq

If 5™ =7"=35P ,express pin terms of m and n.
Given log,9 =y , find logs 81x interms ofy.
If 5™ =7"=35p , expressp interms ofboth mand n.

Given h = 3* and k = 37.
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in terms of h and k.

(@) Express 27

2
(b) Express logg % in terms of x and y.

(@) Simplify log;(4p + 1) — 3logep? + 4logsp
(b) Solve  log;(4p + 1) — 3logep? + 4logsp = 1

Show that al!®8cb = plogca

Given log, b =log,c =log.a ,showthata=b=c.



